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INSTRUcTIONS TO cANDIDATES

	Do not open this examination paper until instructed to do so.
	Section A: answer the questions on three of the passages.  The three passages should be selected 

from two prescribed topics only.
	Section B: answer one question.
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 SECTION A  [30 marks]

Answer the questions on three of the passages.  The three passages should be selected from two prescribed 
topics only.

1.  The Homeric epic 

 (a)  Homer Odyssey 21.249-68

 

 (i)  ...  (lines 249-55).  What is the status of the speaker, 
and why is he upset? [2 marks]

 (ii) Translate  ...  (lines 256-7). [3 marks]

 (iii) Scan lines  258-9 (  ... ). [2 marks]

 (iv) Who had set up the  (line 268)?  What were its terms, and how was 
it eventually settled? [3 marks]
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 (b)  Homer Odyssey 22.380-95

 

 (i)  ...  (lines �81-5):  What are the instructions given to 
Eurycleia?  By whom are they given, and why? [3 marks]

 (ii) Translate  ...  (lines �86-7). [3 marks]

 (iii) Scan lines �90-91 (  ... ). [2 marks]

 (iv)  ...  (lines �9�-5).  What is Odysseus doing with the 
bow, and why? [2 marks]
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2.  Greek Tragedy 

 (a) Euripides Medea 248-66

 

 (i) What is Medea’s purpose in delivering to the chorus the speech of which 
this is a part? [2 marks]

 (ii) Translate  ...  (lines 250-51). [3 marks]

 (iii)  (line 257).  Why is the inclusion of this phrase particularly 
shocking? [3 marks]

 (iv) Scan lines 265-6 (  ... ). [2 marks]
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 (b) Euripides Medea 741-58

 

 (i) Give three reasons why, according to Medea, she is justified in killing her 
children. [3 marks]

 (ii)  (line 802).  Give two ways in which this prediction will be 
fulfilled. [2 marks]

 (iii) Scan lines 807-8 (  ... ). [2 marks]

 (iv) Translate  ...  (lines 816-7). [3 marks]
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3. Aristophanes’ Comedy

 (a) Aristophanes Wasps 103-20

 

 (i) In what respect is Philocleon said to be  
(line 107)?  How did he get that way? [3 marks]

 (ii) Translate  ...  (lines 109-110). [3 marks]

 (iii) Scan lines 112-11� (  ... ). [2 marks]

 (iv) Explain why Bdelycleon  his father (line 119). [2 marks]
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 (b) Aristophanes Wasps 891-911

 

 (i) What is Bdelycleon hoping to achieve in this passage? [2 marks]

 (ii) Identify three objects in this passage brought by Bdelycleon for his father, 
and explain their function. [3 marks]

 (iii) Scan lines 81�-14 (  ... ). [2 marks]

 (iv) Translate  ...  (lines 816-17). [3 marks]
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4. Heredotus and the beginnings of history 

 (a)  Herodotus 1.39-41.1

  (i) What was Atys trying to persuade his father to allow him to do, and why 
was it important to him that he succeed? [2 marks]

  (ii) What arguments used by Atys were decisive in persuading his father to let 
him go? [2 marks]

  (iii) Why did croesus choose Adrastus to guard his son?  How successful did 
Adrastus prove to be? [3 marks]

  (iv) Translate   ...  (lines 5-7). [3 marks]
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 (b) Herodotus 1.46.3-47.2

(i) Translate  ...  (lines 1-�). [3 marks]

  (ii)  ...  (lines �-5).  What was croesus’ immediate 
aim in consulting the oracles, and what was his long term aim? [2 marks]

  (iii)  (line 11).  How did Croesus set about achieving his first 
aim? [3 marks]

  (iv) What was the final outcome of Croesus’ attempt to use the wisdom of the 
oracles? [2 marks]

5

10

15



M07/2/GREEK/SP2/ENG/TZ0/XX

2207-2954

– 10 –

5. Socrates portrayed by Plato

(a) Plato Apology 20c-e

  (i)  ...  (lines 1-6).  What question 
does Socrates put to himself here, and how does he eventually answer it? [3 marks]

  (ii) Translate  ...  (lines 8-9). [3 marks]

  (iii)  ...  (lines 12-1�).  Name any two of these men. [2 marks]

  (iv)  (line 16).  What in particular, do you suppose, made 
Socrates feel the need to deliver these words? [2 marks]
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 (b)  Plato Apology 25a-d

  (i)  ...  (lines 1-2).  To what remarkable conclusion 
has Socrates driven Meletus, and how has he done it? [2 marks]

  (ii)  ...  (lines 4-11).  Why is Meletus 
unwilling to respond to this argument? [3 marks]

  (iii) Translate  ...  (lines 16-17). [3 marks]

  (iv)  ...  (lines 21-�).  How does Socrates go on 
to exploit this argument, and against which of Meletus’s allegations is it 
deployed? [2 marks]
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 SECTION B [10 marks]

Answer one question from this section.

6. What do we learn about Odysseus from reading Odyssey 21 and 22?

7. In what ways would a modern audience’s reaction to the Medea differ from that of an ancient 
audience?

8. On the evidence provided by both the Wasps and the Acharnians, discuss whether, in your view, 
Aristophanes was a serious social critic or just an entertainer.

9. “Herodotus was uninterested in the difference between myth and history.”  Discuss.

10. Was Socrates a deep thinker or an irritating self-important fool?  You should refer to at least two 
Platonic dialogues.


